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Please check whether you have got the right questlon paper

All questions are compulsory.

Each question carries 20 marks.

Draw neat diagram whenever necessary.
Use of simple calculator is allowed.

Q.1 Attempt any two of the following:
a) Explain the components of GDP?
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b) Country Z produces two goods A and B. The followmg table glves data regarding quantities of goods produced
and their prices in the yeafs 2009 and 2010, =

Year (in Kgs) - e :
Quantity ‘A’ Quantltles B' Pri‘c‘e;:'A’j; Price'B’
2010 10,000 228000 < 87T A 012
2011 | 17,000 33,000 A0 62 022
2012 | 19,000 .30;000 4 605 . -25
5 Calculate = e
i) GDP at current prices (nominal GDP in. 2009 & 2010)

ii) GDP at constant prices (Real GDP for 2010)
iii) GDP growth at’current and cons’tantpri‘ce’s.‘

c) Explain the concept of Purchasmg power panty What are the dlfﬂculties involved in calculation of GDP in
terms of purchasing power Parity? G :

Q.2 Attempt any two of the following. e e
a) What is Keynes’ Psychologlcal Law of Consumptron? Explam the concepts of APC and MPC.

b) Explain the concept of the Multlplier How does it work? If Government Investment is Rs. 10,000 and mpc is
0.7, find increase in total income, due to the multlpher effect.

c) Discuss trendsin.the"savmg Rate min'dia. ‘\Nhic-'h_sectors are the main contributors to Saving in India?

Q.3  Attempt any Two of the. followmg
a) Explain the concept of tax mc1dence lIIustrate diagrammatically, incidence in case of a

i} Perfectly elastic demand
ii) Perfectly lnelastlc supply curve

b) Distinguish between -

iy . Merit goods and’ pubhc goods (give examples)

i) Revenue and capltal expenditures (give example)

c) Whatisa subsidy? Expia’in the various types of subsidies in India.

A831D34B711A8411AFC72EDOBAAASF2A

Turn Over




Q.P. Code :03140

Q.4 Attempt any Two of the following:-
a) Explain the following concepts connected with the balance of Payments
i) Trade Account .
ii) Current Account
iii) Capital Account

b

b) Explain equilibrium foreign exchange rate determination in a free ‘ma_brk’etr.

c) Explain the components of foreign exchange reserves? .

Q.5 Attempt any two of the following:
a) Explain the circular flow of income in an open economy

b) Explain the concept of the marginal effi cnently“o capltalv :;

c) Discuss the sources of Revenue of the: Central government

d) DlscussthetypesofdusequnhbnummtheBaIan 0 'a*ments ‘-,,".\: ;

Q.5 Attempt any two of the followmg i 'l
a. Explain circular flow ofi mcome in: an open ; conomy
b. Write a note on consumptlon inction. "~
c. Causes for risingpublic: expendlture e
d. Components of foreugn exchange reserves

A831D34B711A8411AFC72EDOBAAASF2A

Turn Over




Q. Wieih! SHivd 9 Yy diea.

¥) 27 W A T A QA T Ieed FA.
AT 00 -80 maw‘ia:&mﬁu?ﬁmﬁaméaﬁﬁa‘t IR,

Q.P. Code :03140

§
z
E
]
i

I .7

?

‘37’ grmr | 9 gfmm

Ro%0 | R0,000 4,000

R T T

Ll

i

R0%% | 2,000 3%,000

TR

-2t

R033| RRo00 | 30,000

oo F«°

8. A ToRAAITER T QI IedTed (3008, ST R0%0 WEd WeH Bam TS IeqTe)
2. TeR RigeR Tyw dila SEE (Rogo Hitan Al dwe T Ieae)

%) G et T e W
AUTAT TSV hYore ? |

. Gl SR 99 Y dQgar,

3=

T : o0

T GHouA] TISE FT,

) WW\WW;%QW%.WWWQO,OM TR ST fwi sqw
T 0.1 IR T IITHTEAT THHTHR TS It aTg HIS.
) HRATdIS SdieaT g Foe w= 0, WRadE S 8 sEdie) Y deee 2om

A831D34B711A8411AFC72EDOBAAASF2A

Turn Over




3.

¥.

4,

Q.P. Code=i_':03’140'1

¥
) AR HHCIAT TIL H. mﬁwmﬁg&ﬁaamﬂamwm
2. ol wafe wrmht

R. vt Tcrale gREst .
q) B TR H.

2 mmaﬁmﬁﬁwm(w@m

. eyeh i wisaeh @ (I ;) e
%) W@?r@ﬁm?mwﬁﬁﬁuwwm e

ar) wﬁm@mmmmm

. Eait S g ;
=) @wmmﬁmﬁmmﬁmmm s
%) ﬁ%mﬁﬁmmmwm 8

) wmﬁamw%mm
) wieaens Ridia wrEEEar & geher ws m
%) g QT RS S W w0, __
) mzmaﬁamuw@aafm '

———— o e e

A831D34B711A8411AFC72EDOBAAASF2A




